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9.

10.

11.

12.

13.

A body is projected vertically upwards and returns back to its point of projection. In terms of its
velocity, describe its motion. (3 marks)

A mass of 200g is tied to a string and whirled in a vertical scale of radius 48cm at a speed of 12m/s.
Calculate the tension in the string at the top of the circular path. (3 marks)

State how the pressure in a moving fluid changes when the velocity of the fluid increases. (1 mark)

SECTION B : (55 MARKS)

A student measured the mass of an empty container and found it to be 70g. He then put 80 drops of
oil in the container and the mass_of the container and its contents became 70.12g. Given that the
density of the oil used is 0.75g/cm’.

a) Determine :
1) Volume of the oil put in the container. (2 marks)
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14.

b) One such drop is put on the surface of water where it spread into a thin circular film of diameter
100cm.

1) Estimate the diameter of the oil molecule. (3 marks)
i) State the assumption made in b(i) above. (1 mark)
a) What is the meaning of term uniform acceleration ? (1 mark)

b) The motion of a body is described by the graph shown in the figure 6(a).

Sketch a velocity-time graph for the motion on the set of axes in figure 6(b) (1 mark)

¢) A body of mass 0.5kg falls from an 80m tall building and penetrates to the ground to a depth of
20cm. Determine :
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1) The velocity at which the body strikes the ground. (3 marks)

b) Figure 7 is an illustration of a simple pendulum.

1) Describe the energy transformation which takes place when the pendulum swings from P to R.
(2 marks)
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1) Name the gas law being investigated. (1 mark)

i1) Give two reasons for using the concentrated sulphuric acid index (2 marks)
ii1) What is the purpose of the water bath ? (1 mark)
iv) State two measurements that shoul Eexperlm"'e%scale (2 marks)
Stirrer =
Fig. 9 ] = Conc. sulphuric
- 5 r acid index
.................................... oo el ;‘_’;
.................................... bath....... .| ; S A e
) Explain how the measuremen e e used to verify the law. (3 marks)

S Tty

b) A gas has a volume of 30cm’ at 18°C and normal atmospheric pressure. Calculate the new volume
of the gas if it is heated to 54°C at the same pressure. (3 marks)

17. In an experiment to determlne the density of a liquid, a uniform cylindrical metal rod of cross-
sectional area, A = 6.25cm® was hung from a spring balance and lowered gradually into the liquid.
The upthrust for various submerged heights was determined. The results obtained are shown on the
graph in figure 10.
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